
L2D /23/04/2024)

* pl-CALCULUS

-

Customer C = askPizzor
. pay Pizza. O

-

pizza place
P = akfizza

. pay pizzo .
P

s value possing

C = acktizza (4 stagioni . Toy /7)
. change/2) . Pizza. Ot fat .

Of

↑ =
ask Pizza (c)

. payly) . If (price(x) = y)

them -

ebe Change Me
. Pe

system

(C/P) Garkizza , pay , change ,
--- . I

BBLEM : only interactions on known channels
, statitally determined

and shared

New Example : pizza place with home delivery
~ chammel

-C = orizza /home)
. pay .

homeles
.

eatles. O

3
-

P = ask fizza (y) pay ↓ pizza)
.

( (pizza) . Pr

↑
~*)

two interpretation

-X pizzo is restricted to be

Used only in
/ ( pizzo

-

pizza is a newly created
chammel



CIP
-

ay .
homeles

.

Eat(e). O ↑

pay .
Er pizza) /home(pizza) .

P

[

- homelo)
.

eat(a). O ↑
-

↓ pizzo( /home (piezo) .
P

-

I

- Cupizzo Statspizze .

o I P

et ..
-d E pizza (1pj

=> (pizza) fasklizza (y) . pay . ( pizzo) / pizzo . P
= asklizza (y) . pay .

( pizza) / pizzo .
Pr

4) - calculus = Cas +

-> channel creation

-> chommels possed over chammels

* Syntox
-create new a in P

set chammels N . y ,
z a

,
b

,
a

-

Is local to P

↑
V

process P :i = -I PalpeI Cros P

5 :: = 0 1 E
.
P S1 + S2

T :: = x(z) (E (z)(5) [x = y]i-
↑
binder

complication

(z)
.

P =

arw)
. P( * )

X-equivalence
rx)P = (a) P(W)

↑
careful in the choice of w



giz) .

Eke)
.

o n yrac) .

Era

a
111

y(w). (x) .
0

-
replace only the fue occurences ...

L

y/z) .

Ek)
.

0 (73 =

y(z) .

E(z)
.

0

#

y(w) . (x)
. 0 (zk] =

y(w) .
w(z)

.
0

need of capture free substitution

Operational Rules

↑
i

= pl

Tre
.

Pre PEb] copture fre (b)
.

P = P

↑ substitution
↑

-da
=Paq

Pla = P'Q

interaction between u & communication

↑ = pr

rep ?



I NPUT OUTPUT

P =- p pop

(uz)p =+z)p (z)pEbayz)p

VES z + a
,
b

VEs

NO z = 0 No

NO z = b

z + 0

b b

&

P =
=

= p
COPENS *Cub)pb)= pi

pa = Q

Pla b) 19'la')
lose)

-

> behavioural equivalence I weak
, latebarly- ----

-> logic I nominal logico (

i


